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Ogdetss 12,000 x12& 144
O&£)| dx& 50,000 x12& 600
Oolaolg HFEH g AIE2
40,000& ~12& 480
ORAHHIANAY EHS 140,000& = 12& 1,680
QFIIHEAAHE AL 350,000& *13] 350
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ARAEFOHAAS 50,000 100,000 250,000
401 A EHI L 2O 50,000 100,000 £50,000
01 Al&H| 50,000 100,000 50,000
O2208 s2 2 & SAM 10,000
Og=20t2 ot Hi=g SAk 10,000
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M AMHH
B F0 BHEY €
Sl EolgE K& CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- dJIe3 1,000,000& 122 12,000
— &d.o=ER=3 700,000& 128 8,400
— dIletd el 250,000 128 3,000
=2 & 23KRHIX 2el 5,484 5,004 480
101 124l 5,484 5,004 480
04 JI2ZtHZ22HEE = 5,484 5,004 480
OXM=s3d 2l 45,7003 62«10 2,742
OR&XN &R 45,7002 «152 »4H 2,742
NSRS 15,648 14,233 1,415
101 144 dl 15,648 14,233 1,415
04 D122 2XEE S 15,648 14,233 1,415
ONS S MEEX Q12| 15,648
—JlZs 45,7003 #2512 «1H 11,471
— RS 45,7003 *52L «1H 2,377
== = 150,000 128 »1H 1,800
SMEIE BEsatel 18,081 16,621 1,460
AEUY 1,400 1,400 0
02 OI=LTHAHE & 2 1,400 1,400 0
02 IAQITHOHE =R ESEL S 1,400 1,400 0
OMSRBES D120l S A
7,000 «100Y 23] 1,400
FTR T=2Y 22 16,681 15,221 1,460
101 @124l 16,681 15,221 1,460
04 JI12ZtHZ22HEE = 16,681 15,221 1,460
OF8 T2Y ZHilJI(50km)
45,700 «5& x50H 11,425
O=2& & sHEZZ 2410 At
45,700 «52 x23H 5,256
gl 24 2,400 2,400 0
QAR d 2,400 2,400 0
201 L2l 2,400 2,400 0
01 At 2t 2l 2,400 2,400 0
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Oglog 2238 P2 300,000& »23l 600
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101 @144 dl 6,480 4,680 1,800
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SH-HH . B(SH) - HBAMY - B2 il 2
03 I HLs22 N 6,480 4,680 1,800
ORJIHA22X EE2(2Y) 6,480
- 1888 100, 000& *12& x2H 2,400
—AMEE 170,000& = 12& x2Y 4,080
| =&l 49,358 45,728 3,630
&l 49,358 45,728 3,630
201 et A H| 17,198 16,448 750
01 AFR2t2l Y] 17,198 16,448 750
O= A 7,200
— 2AD dXZ(20H) 450,000 x12& 5,400
— AX=AI FIAMES 150,000& = 12& 1,800
OoZeglyl EYH ¢ 150, 000& *63] 900
OoANREg A28 2¢ 100,000 x12& 1,200
OEAEX 20,9003 =108 A x12& 2,508
O 2 JIEHA 3,000
~YPEINE M (25HOIX 22)
5,000& *200% 1,000
—dEPSsZ L STAFLH 500,000& x4 & 2,000
OgRFd 28 St 60,000& x103] 600
OLAH|(H,=4HH) 50,000& x9& 450
OXNAZ b 7,000& * 128 %10 840
O4AR HES =&Hl 500
202 O B 22,080 19,200 2,880
01 2L Y| 1,920 1,920 0
OFAEE =AY 1,920
02 AN Y| 20,160 17,280 2,880
OZ ¥l 140,000& 128 x12& 20,160
203 IR = Y| 10,080 10,080 0
01 J|229 PR =&Y 6,600 6,600 0
OJZASYILZXHI(HE) 6,600
02 ]I R = XY 480 480 0
OFJ AR =AY 40,000& x12H 480
04 ENSIHRF=EY| 3,000 3,000 0
ORNSgIRF&Y| 250,000& x12& 3,000




